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¥ Read the following passages and answer the questions.

(A) Those who have handled science have been either men of experiment or men of dogmas.
The men of experiment are like the ant; they only collect and use. The reasoners resemble
spiders, who make cobwebs out of their own substance. But the bee takes a middle course; it
gathers its material from flowers of the garden and the field, but transforms and digests it by a
power of its own. Not unlike this is the true business of philosophy.

(B) Bacon was the prophet of the empirical tradition. Empiricism was not his word; nor would
he have accepted its use as descriptive of his intellectual stand. For an empiric, in the language
of his time, was almost a cheater rather than a learned man. But in the 19th century and our
own time, the term empiricisin acquired a new meaning. It designates a theory of knowledge
opposed to the kind of rationalism advocated by Descartes. It is the position according to which
human knowledge arises gradually in the course of ® through observation and

experiment.

(C) Studies serve for delight, for ornament, and for ability. Their chief use for delight is in
privateness and retiring; for ornament, is in discourse; and for ability, is in the judgement and
disposition of business. ® They perfect nature, and are perfected by experience, for natural
abilities are like natural plants, and need pruning by study. Crafty men condemn studies, simple
men admire them, and wise men use them, for they teach not their own use; but that is a

wisdom without them, and above them, won by experiment.

1. COMPARE bee with ant and spider in the passage (A). (153)
2. What is the point of argument in the passage (A)?
You need to answer by CONTRAST. (103)
3. Read the passage (B) and trace the meaning of "empiric” from Bacon’s age to our era. (10%)
4. Fill in the blank ®@. It is a key word of empiricism.
You can find the word in the passage (C). (103)

5. What does ® They refer to? (53)
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